Sine Law ( Cosine Law        Worksheet
A. Cosine Law ( Sine Law

(1) Use Cosine Law to prove that  
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(2) Prove that   
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B.
Sine Law ( Cosine Law

(1)
Prove that  
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(2)
Use sin A = ka,  sin B = kb,  sin C = kc  to prove that  
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Solution: 

A.
1.
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2.
Since the result in ( is cyclic in a, b, c, that is, when we replace a by b, b by c 
and c by a, we can get the same function.

   
Therefore, when we work out 
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 we get the same expression in (1).

   
We then get 
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B.
(1)

[image: image15.wmf](

)

[

]

2

2

2

)

sin(

)

(

180

sin

sin

C

B

C

B

A

+

=

+

-

=

o


         

[image: image16.wmf][

]

2

sin

cos

cos

sin

C

B

C

B

+

=


         

[image: image17.wmf]C

B

C

B

C

B

C

B

2

2

2

2

sin

cos

cos

cos

sin

sin

2

cos

sin

+

+

=


         

[image: image18.wmf]C

B

C

B

C

B

C

B

2

2

2

2

sin

)

sin

1

(

cos

cos

sin

sin

2

)

sin

1

(

sin

-

+

+

-

=


         

[image: image19.wmf])

sin

sin

cos

(cos

sin

sin

2

sin

sin

2

2

C

B

C

B

C

B

C

B

-

+

+

=


        

[image: image20.wmf])

cos(

sin

sin

2

sin

sin

2

2

C

B

C

B

C

B

+

+

+

=

 




[image: image21.wmf])

180

cos(

sin

sin

2

sin

sin

2

2

A

C

B

C

B

-

+

+

=

o


       

[image: image22.wmf]A

C

B

C

B

cos

sin

sin

2

sin

sin

2

2

-

+

=




(2)
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